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Short answer questions/problems

1.  What have people found when they have examined how stock prices actually react to dividend announcements?

Prices rise when announce dividend increased and fall when announce dividend decreases.

2.  Why is it that high dividend stocks might not offer a higher pre-tax return despite the fact that dividends are taxed at a higher rate than capital gains?

Higher pre-tax returns bid away by tax free investors (such as those saving for retirement).

3.  List (but do not discuss), two of the three advantages that transferable put rights offer compared to a tender offer.

Two of:  no wealth redistribution, no over-subscription problem, tax savings

4.  Assume a firm announces it intention to issue common stock and use the proceeds to retire a portion of its outstanding debt.  How will this change affect the return that the firm’s stockholders can expect to earn?

Decrease

5.  According to Miller’s analysis, which investors will choose to own common stock?

Investors with TB > TC

6.  How do stock prices react to announcements of capital structure changes?

Increase when increase leverage and decrease when decrease leverage

7.  What do we call an issuance of common stock that is made to the general public?

Cash offering

8.  List (but do not discuss) two entities that have a role in the regulation of securities markets.

SEC, Federal Reserve, States

9.  Give two reasons that it might be difficult to estimate the beta of a project by calculating the beta using historical returns on similar assets.

Two of: difficulty getting data since must be publicly traded, small sample problems, risk has changed

10.  Assume that your firm is trying to determine the risk of a new project it is considering.  What is one disadvantage of estimating this risk using the average asset beta for firms in the same industry as the project?  

Project likely riskier than established firms, may not find a comparable firm
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Problems/Essays

1.  
a.  If we view common stock as a call on the firm’s assets, do dividend payments make stockholders better off or worse off?  Why?

b.  Explain why stockholders might be worse off at the announcement of an increase in dividends than your answer in part “a” would indicate?  

a.  Better off.  When pay dividend, firm’s assets fall causing value of firm’s stocks and bonds to fall.  However, stockholders gain since get the entire dividend but stock value falls less than dividend.  In addition, the firm is paying out the least risky asset of the firm as a dividend.  Thus, the risk of the firm rises.  This increased risk further helps stockholders at the expense of bondholders.

b.  Personal taxes mean that the stockholders do not get to keep the entire dividend.  This is especially a problem if the firm does not have enough cash to pay the dividend and so must raise the cash.  

2.  Top Ten Inc. has just announced that it intends to issue debt and use the proceeds to repurchase common stock in order to increase the firm’s leverage.  Considering ONLY issues related to taxes, how might this change fail to make the stockholders any better off?

The stockholders will end up paying higher personal taxes on the debt than they would have on equity.  In addition, the firm may not have sufficient earnings to deduct the interest for corporate tax purposes.  This may stem from either low earnings for Top Ten or highly volatile earnings for Top Ten.  In this second case, the expected tax savings are low since there is a higher probability that the firm will not be able to use the tax shield.  If the higher personal taxes exceed the expected tax savings at the corporate level, then Top Ten’s stockholders are worse off.  

3.  The market value of Navigate Communications Inc. bonds is $420,000 while the book value of the bonds is $400,000.  The market value of the firm’s stock is $1,800,000 while the book value of its stock is $500,000.   The yield to maturity on Navigate’s bonds is 9.5% which is a substantial premium over the 3.3% return on T-bills.  Note also that the market risk premium is expected to be 7.4% and that the beta of Navigate’s equity is 1.2.  Global Reach’s tax rate is 35%.  If Global Reach is considering investing in a new project that produces quarterly cash flows with about the same risk as the firm’s existing assets, what rate should it use when calculating the NPV of this project?  
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4.  Frodo Industries is contemplating acquiring a factory from a competitor that has recently filed for bankruptcy.  Since the factory would have to undergo some minor modifications (at a cost today of $300,000), the factory would not actually gear up for production or produce net cash flows until 3 months from today.  At this time, the factory is expected to produce a net cash flow of $100,000.  After this initial $100,000, net cash flows are expected to grow by 1.2% per month trough 2 years from today.  After this period of growth, net cash flows are expected to remain stable (at the level realized 2 years from today) though 4 years from today (at which time the factory will be closed).  What is the most Frodo should offer for the factory if the required return on the factory is 13.5% per year compounded monthly?
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5.  Eli Industries is considering undertaking a new project that is expected to produce net cash flows with a present value of $120,000.  The project would require an investment of $100,000 in new plant and equipment, but Eli estimates that if the facility is built, it could only be sold to another firm for $79,000.  However, Eli estimates that it will only be able to sell the facility for the next 2 years.  After this 2-year period, Eli estimates that technological change would make the facility virtually impossible to sell to anyone else.  The new facility creates considerable risk for Eli for a couple of reasons.  First, the investment is large compared to Eli’s existing assets which only have a value of $150,000.  Second, the standard deviation of returns on the new facility is estimated to be 52% compared to the 37% standard deviation on Eli’s existing assets.  The required return on the project is estimated to be 15%, which is higher than the expected return on the market of 12%.  This rate is much higher than the return on one-month Treasuries that earn 1.72% per year compounded continuously, one-year Treasuries that earn 2.08% per year compounded continuously, and two-year Treasuries that earn 2.83% per year compounded continuously.  What is the impact of undertaking this project on Eli Industry’s value?
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NPV = 120,000 – 100,000 + 10,345.18 = 30,345.18
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6.  Suppose you own stock in Y-Box Inc. and in Zony Inc.  Y has an expected return of 15% while Zony has an expected return of 20%.  Y has a standard deviation of returns of 28% while Zony has a standard deviation of returns of 41%.  The risk-free rate of return is 3%

a.  Sketch and label these two investments on a graph of expected return vs. standard deviation.

b.  If you can borrow or lend any amount of money at the risk-free rate, what is your best combination of Y and Zony?

c.  Graph and label the risk and return you face if you borrow an amount equal to 50% of your wealth and invest this in your portfolio in part b.  

d.  Assume the risk-free rate suddenly falls significantly but that you do not change any of your investments.  How will your answer in part “c” above be affected by this drop in the risk-free rate?

a.  Zony is to right and above Y-Box.

b.  Point of tangency to curve that stretches to left from the two points.

c.  Point 50% beyond point of tangency on line

d.  Intercept falls, line still through old tangency point (not new tangency point).  Return higher than before.

7.  Your boss at Masako Industries has asked you to explain how EVA adjusts accounting earnings and why such  adjustments are necessary.  How do you respond?

It adjusts accounting earnings in a couple of ways:

1)   Subtracts a capital charge equal to accounting assets times the firm’s cost of capital

This adjusts accounting earnings so that it is consistent with the time value of money.

Key => accounting assets equals the net amount of spending that has not yet been recognized for accounting purposes.  This amount is being pushed to future periods for accounting purposes without recognizing the time value of money.

2)  Adjusts net income to generate better measure of performance

Focuses on ongoing operations of the firm

Does not amortize goodwill

Does not expense Research and Development, but capitalizes then amortizes over the useful life.
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